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ACE Chapter 7
Geometric Figures




Classify Angles L3l iyl

Find the value of x in the figure.

(2x +2)°

130°

’ Marks: 2 |

A X dad 2n 4l

a. x=128
b. ' x = 64
c. x=>52
d. x=150

Eage 537 — Example 3A I




Classify Angles L3l iyl

Find the value of y in the figure.

’ Marks: 2 |

JSAN B Y dad aa

a. y=120

b. y=130
1y —

C I_y—ZO

d. y=60

Eage 537 — Example 3B I




Complementary and Supplementary Angles 4lalSiall g daliial) Lyl g 3 I Marks: 2
Q\ ¢ X dah L A gal) Ul g3l Galla 3

A pair of scissors forms the angles shown.
What is the value of x?

a. x=116
b. x=64
c. x=180
X =8 Ll ________.

Page 546 — Example d




Complementary and Supplementary Angles 4lalSiall g Aaliial) L g 31 | Marks: 2

Find the value of x. X Aad aa gl
(3x) —
45
alxTas T TTTTTToTTommmmmmm e '
L e e e e e e e e e e e " Y__—_—_— |
b. x =135
c. x=175
d. x=180

Page 546 - Q3 I




Triangles <Gliall ’ Marks: 2
Classify the triangle on the house by its aladinly J3iall (38 3 ga gall Eullial) Cila
angles and by its sides. J/\ PR

b. acute isosceles triangle (m8ludl g sluda dla Cilia
C. obtuse scalene triangle g3V Cilida 7 jiia &ulla

d. right equilateral triangle £3uaY¥) (s sbudia aild Eutia

rPage 557 — Example 2 ,




Triangles <Gliall Marks: 2 |

Find m4T in ARST if mzR=37° and m4S= 55°. .M2£S=55°S 9 mLR=37° S 13} ARST & msT 33l




Triangles <Gliall Marks: 2

A triangle is used in the game of pool to
rack the pool balls. Find the missing
measure of the triangle.

Ll Sl Gl g jltl) dad B Cullia aadig
(Glial) b J ggaal) ulll 22 )

a. 40

l\ ., - - - T T - - ---=-""=-=-""=-""="-""=-"=-"=-"="-""=""="=""=""=""=""=-"=""=""=-""="-"=-""==" I
b. L62 ____________________________________________ ,
c. 120
d. 30




Scale Drawings Axi!) (uulial) Cila g Marks: 2

On a map, the distance from Akron to Cleveland Lgald "ADIES" da Moy g S (e Adlaial) (dday A e
measures 2 centimeters. What is the actual distance if O Aday A (b oS 13) Adadl) dBlical) La , jlasit 2
the scale of the map shows that 1 centimeter is equal 915 5lS 30 (g sbsy Sasiini 1 )

to 30 kilometers.

a. 15km
b. 45km
c. 30km
o L60km

Page 578 - Q1



Scale Drawings Axi!) (uulial) Cila g Marks: 2

An engineer makes a model of a bridge using a scale calie Al el Bl e (i aiay

of 1 centimeter = 1 meter. The length of the actual La )35 50 98 Aadl) el Jsb, e 1 = Siagiin

bridge is 50 meters. What is the length of the model? gl Jsh

a. 100cm

b. 25cm

 Gogn (T TTTTTTTTTTTTmTmmmmmmmmmmoomooeees '
L L L e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e M M M M 2 o |

d Icm

Page 57§ -Q2



Draw Three-Dimensional Figures a3 45505 JI&Y) am Marks: 2

The corner view of the three-dimensional figure whose 5 skiag s slall o gliia i gall Ma¥) AN JSAN (g g1 31 glaiall
top view, side view, and front view area shown is: t 98 (alaY) oy glaia g ailall
top side front ) )
a. | | b.
I |
| |
I |
I |
e o e e e e o mm mm Em mm Em Em Em Em Em Em Em Em = of
c d.

Page 588 — Example 5 J




Cross Sections 4ua al) aalial) Marks: 2 |

Describe the shape resulting from the horizontal (A ) adalal) e il JSA Ciua
cross section.

a. pentagon (~led

quare &4

|
b. (Squareg :

c. triangle &lia

d. trapezoid < aie 4

)

[Page 596 — Example 3




Cross Sections 4xa i adalial) N Marks: 2
ol S ) el e gl JSAN Cia

Describe the shape resulting from the vertical
cross section.

a. pentagon (~led

by il !
b. I_tlr_lafg_le __________________________________________ :

C. square &+

d. trapezoid < aie 4

)

I'Page 596 — Example 3




Cross Sections 4ua al) aalial) ’ Marks: 2 |

Describe the shape resulting from the angled (S A (aal) adaial) (o iUl JA) Cia
cross section.

a. pentagon (~kad
b. triangle i

C. square &+

d. :_trapezoid ke A |

- ——

[Page 596 — Example 3
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e Chapter 8
; Measure Circle




Circumference 5_i4l Jaaa Marks: 2

Find the circumference of the circle. Bl Jaaa aa g
Use 3.14 for nt. Round to the nearest tenth if LAY B ke Ga s @ L qld T 3,14 axdial
necessary. 15m

a. 30m

'y g .. - T T = = === ========"=¥=¥"=""=""=""/7=/""=""="="/=-"=-"=-"=-"=-"==== i
b 47.am oo .
C. 942 m
d. 7.5m

f Page 616 - Q4



Circumference 5_i4l Jaaa Marks: 2

Find the circumference of the circle. Bl hasaa aa gl

3 - . ws - 22
22 W) 8 e ¢ 3 bl mmd 22 aaAnl
Use - for t. Round to the nearest tenth if 'Nj ' el o0 T 7 ¢

necessary.

| Page 616 — Q5



Circumference 5_i4l Jaaa Marks: 2

The Belknap shield volcano is located in the Cascade S A JSE Sl AAS gl (B S Al QUsh S s ady
Range in Oregon. The volcano is circular and has a A A didla) QB oSl Jaaa Lad i jia bS8 o plad iy
diameter of 8 kilometers. What is the circumference B s (a8
of this volcano. Round your answer to the nearest

tenth?

b. 12.6 km
c. 8km

d. 4km

| Page 617 - Q8



Area of Circle 334l dalua Marks: 2

Find the area of the circle. L5l dabluca aa
Use 3.14 for nt. Round to the nearest tenth if LAY B ke Ga s @ L qld T 3,14 axdial
necessary.

b. 31.4 cm?

e g ...2_ ___~~~— -~ -~ -7 -""=-""=""=""="="="="="=""=""=""=""/"=-""”"=""=-"=7= I
¢. . /8s5em~ |
d. 15.7 cm?

f Page 626 - Q1



Area of Circle 334l dalua Marks: 2

Find the area of the circle. Bl dalsa aa g

3 - . ws -« 22
22 W) 8 e ¢ 3 ol mmd 22 aaAnl
Use - for t. Round to the nearest tenth if 'Nj ' Gard Qo0 T 7 £

necessary.

b. 616 cm?
c. 22cm?

d. 44 cm?

f Page 626 — Q2



